

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

-	WOA	SIS			Jump to: FORMS	🟦 Go	Mome	🔑 Personalize	Accessi	bility  A	App Help	🐔 About	U
V	/elcome, Lu Anne Cottrill				Procurement Budgeting	Accounts Re	ceivable	Accounts Payable					
-	Solicitation Response(SR)	Dept: 0803 ID: ESR	10231900000025	49 Ver.: 1 Function: N	ew Phase: Final	Modified	by batch,1	10/23/2019					
L	Header											-	
ľ													
l												List View	^
l	General Information	Contact Default Va	lues Discount	Document Information									
	Procurem ent F	<b>Folder:</b> 621715				SO Doc C	ode: CRFC	2					1
l	Procurement	t Type: Central Purchas	se Order			sor	Dept: 0803						
l	Ven	dor ID: 000000113536	6 👌			SO Do	oc ID: DOT2	200000040					
l		Name: CHARLESTON				Publis hed l	<b>Date:</b> 9/30/ <sup>-</sup>	19					
l	-	S/DBA: BISMARCK STE				Close	Date: 10/23	8/19					
l	Tot	tal Bid: \$116,925.00				Close T	Time: 13:30	)					
l		e Date: 10/23/2019				Sta	atus: Close	ed					
		Time: 12:39			Solici	tation Descrip	otion: STEE	EL ANGLE/C CHANNI	EL/BAR-H	^			
1		12.00					FLA	T W6X9 BEAMS (102	200064)	-			
1					Total of Hea	ader Attachm e	ents: 0						
l					Total o	of All Attachm e	ents: 0						
													- v



Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

## State of West Virginia Solicitation Response

	Proc Folder: 621715 Solicitation Description:STEEL ANGLE/C CHANNEL/BAR-H FLAT W6X9 BEAMS (10200064) Proc Type:Central Purchase Order								
Date issued	Solicitation Closes	Solicitation Response	Version						
	2019-10-23 13:30:00	SR 0803 ESR1023190000002549	1						

VENDOR	
000000113536	
CHARLESTON STEEL	
BISMARCK STEEL LLC	
Solicitation Number: CRFQ 0803	DOT200000040

Total Bid : \$116,925.00

**Comments:** 

**Response Date:** 2019-10-23

**Response Time:** 12:39:32

Signature on File

Crystal G Hustead (304) 558-2402

crystal.g.hustead@wv.gov

FOR INFORMATION CONTACT THE BUYER

FEIN #

DATE

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Angle 2" x 2" x 3/16" thick 20' in length.	50.00000	EA	\$27.500000	\$1,375.00
Comm Code	Manufacturer	Specification		Model #	
30101504					
Extended De	scription : Angle 2" x 2" x 3/16" thic	ck in 20' lengths ar	nd shall meet	AASHTO M270 g	grade 50W specifications.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Angle 4" x 4" x 1/2' thick 20' in length.	250.00000	EA	\$144.000000	\$36,000.00
Comm Code	Manufacturer	Specification		Model #	
30101504					
Extended De	scription : Angle 4" x 4" x 1/2" thick	in 20' lengths and	shall meet A	ASHTO M270 gra	de 50W specifications.

Comments: Start shipping in 7-10 days, balance could be several weeks

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Angle 4" x 6" x 1/2" thick 20' in length.	30.00000	EA	\$183.000000	\$5,490.00
Comm Code	Manufacturer	Specification		Model #	
30101504					
Extended Des	scription : Angle 4" x 6" x 1/2" thick	20' in length and	shall meet A	ASHTO M270 grad	le 50W specifications.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	STR-Channel, C-6 x 3/16" thick 20' in length.	50.00000	EA	\$92.500000	\$4,625.00
Comm Code	Manufacturer	Specification		Model #	
30101804					
Extended De	scription : STR-Channel, C-6 x 3/16" t	hick 20' in lengt	h and shall m	eet AASHTO M2	70 grade 50W specifications.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	STR-Channel C-8 x 1/4" thick 20' in length.	30.00000	EA	\$130.000000	\$3,900.00
Comm Code	Manufacturer	Specification		Model #	
30101804					
Extended Des	scription : STR-Channel C-8 x 1/4" th	iick 20' in length	and shall me	et AASHTO M270	grade 50W specifications.

Comments: Start shipping in 7-10 days, balance could be several weeks

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	STR-Channel C-12 x 5/16" thick 20' in length.	30.00000	EA	\$277.500000	\$8,325.00
Comm Code	Manufacturer	Specification		Model #	
30101804					
Extended Des	scription : STR-Channel C-12 x 5/16"	thick 20' in leng	th and shall n	neet AASHTO M2	70 grade 50W specifications.

Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
BAR-H Flat 3/8" thick x 3" wide 20' in length.	20.00000	EA	\$43.000000	\$860.00
Manufacturer	Specification		Model #	
	-			
scription : BAR-H Flat 3/8" thick x 3" w	vide 20' in lengtl	n and shall m	eet AASHTO M2	70 grade 50W specifications.
	BAR-H Flat 3/8" thick x 3" wide 20' in length. Manufacturer	BAR-H Flat 3/8" thick x 3" wide 20' in length.       20.00000         Manufacturer       Specification	BAR-H Flat 3/8" thick x 3" wide 20' in 20.00000 EA length. Manufacturer Specification	BAR-H Flat 3/8" thick x 3" wide 20' in 20.00000 EA \$43.000000 length. Manufacturer Specification Model #

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	BAR-H Flat 1/2" thick x 4" wide 20' in length.	30.00000	EA	\$76.500000	\$2,295.00
Comm Code	Manufacturer	Specification		Model #	
30102204					
Extended Des	scription : BAR-H 1/2" thick x 4" wide	20' in length and	d must meet .	AASHTO M270 g	rade 50W Specifications.

Comments: Start shipping in 7-10 days, balance could be several weeks

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	BAR-H Flat 1/2" thick x 10" wide 20' in length.	30.00000	EA	\$366.000000	\$10,980.00
Comm Code	Manufacturer	Specification		Model #	
30102204					
Extended Des	scription : BAR-H Flat 1/2" thick x 10"	wide 20' in leng	th and must r	neet AASHTO M2	70 grade 50W specifications.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	BAR-H Flat 1" thick x 10" wide 20' in length.	25.00000	EA	\$732.000000	\$18,300.00
Comm Code	Manufacturer	Specification		Model #	
30102204					
Extended De	scription : BAR-H Flat 1" thick x 10"	wide 20' in leng	th and must n	neet AASHTO M2	70 grade 50W specifications.

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	BAR-H Flat 1" thick x 11" wide in 20' length.	25.00000	EA	\$749.000000	\$18,725.00
Comm Code	Manufacturer	Specification		Model #	
30102204					
Extended De	scription : BAR-H Flat 1" thick x 11" w	vide in 20' length	n and must m	eet AASHTO M27	0 grade 50W specifications.

Comments: Start shipping in 7-10 days, balance could be several weeks

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	W6 x 9 H Beams 20' in length.	50.00000	EA	\$121.000000	\$6,050.00
Comm Code	Manufacturer	Specification		Model #	
30101704					
Extended Description : W6x9 steel H beams 20' in length must meet			et AASHTO I	//270 grade 50W s	specifications.